
1)
64

4 /8

Answer: ____________

2)
64

4 /8

Answer: ____________

3) What would you multiply by to 
decrease an amount by 64%?

Answer: ____________

4) Find area of triangle
h = 65 m, a = 88 m,
b = 98 m, c = 99 m

Answer: ____________

5) Round 5.564 to the nearest whole 
number.

Answer: ____________

6)
196

4 /8

Answer: ____________

7) Find area of triangle
a = 77 cm, b = 87 cm

Answer: ____________

8) Round 16.391995 to the nearest whole 
number.

Answer: ____________

9) Round 16.391995 to the nearest whole 
number.

Answer: ____________

10) Round 16.391995 to the nearest 
whole number.

Answer: ____________

Total: ___ / 10
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Answers:

1) 8 2) 8 3) 0.36 4) 3185m 5) 6 6) 14 7) 3349.5cm

8) 16 9) 16 10) 16
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